FERIRE FERETF R

gy | £-7 | "R | HP

35 HH &E AR 0 0.54 35 0 0 0 1 8 1 4 204 185  5071/3 32 0 60 14 4 0 0 6 3 0.91
15 =i & e 10 133 10 0 0 0 9 0 0 0 0 1000 241 207 61 38 0 36 23 5 7 0 n 9 1.00
13 B HEFR KBR 7 1.48 9 1 1 1 3 2 0 2 2 600 190 172  482/3 32 0 37 15 0 2 0 M 8 0.97
19 AT e 7 170 20 1 1 0 5 0 0 3 4 1000 237 204 587/3 36 1 37 26 5 3 0 18 " 1.06
30 HE R HE 6 1.96 18 2 1 0 6 1 0 5 6 857 241 218 592/3 45 2 56 18 0 0 0 15 13 1.06
16 AT DN i 17 1.98 21 3 2 0 12 2 0 1 2 857 477 440 18 1717 103 4 88 21 6 4 1 41 26 1.05
28 L KA B 14 199 16 2 2 1 6 4 0 0 0 600 349 307 811/3 1385 58 1 90 29 3 6 0 32 18 1.07
38 ENITEPN KBR 12 2.32 20 1 0 0 4 7 1 1 2 364 353 311 851/3 1254 73 0 49 27 4 1 1 40 22 117
M BR —A e M 2.73 17 0 0 0 8 1 0 0 0 889 270 220 622/3 1025 42 1 55 40 4 4 0 20 19 1.31
18 W+ RE "E 14 2.79 15 1 0 0 8 5 0 0 1 615 381 340 901/3 1316 88 1 52 23 8 2 0 40 28 123
48 EE BA ML 2 2.87 32 0 0 0 1 2 8 0 1 333 216 170 47 849 31 1 37 39 3 8 1 18 15 149
26 FEFAE ML 15 316 17 1 0 0 3 5 0 0 0 375 402 366 94 1509 90 2 81 26 5 2 0 35 33 123
15 B &5 ABR 13 3.31 22 0 0 0 5 5 0 1 2 500 353 282 812/3 1323 57 0 7 53 1 9 0 38 30 135
17 B Jtth L 7 3.38 20 1 1 0 4 6 0 1 3 400 289 257 691/3 1037 63 2 38 19 2 1 0 33 26 118
19 HEAR R £E 8 3.65 1 0 0 0 4 2 0 0 0 667 231 198 497/3 915 56 0 44 26 0 0 0 26 20 1.66
21 BKRE I EITI 4.26 17 0 0 0 4 4 0 0 0 500 301 242 6313 1078 60 1 41 43 1 3 0 39 30 163
n TE AR w12 4.31 23 0 0 0 3 6 3 0 1 333 408 366 94 1488 101 1 64 31 4 4 1 56 45 1.40
21 TR fLK EE 8 5.44 13 0 0 0 0 9 1 0 0 .000 219 186 48 853 48 3 26 27 1 3 0 37 29 1.56
43 J e 482 < ABR 1 6.99 15 1 0 0 1 9 0 0 0 100 376 342 76 1316 114 4 32 27 4 8 1 73 59 1.86
54 S RE KB 8 7.23 18 2 0 0 0 7 0 3 3 000 335 277 66 1246 92 1 42 40 4 6 2 72 53 2.00




